Physics 11 Note Booklet #3: Dynamics

Friction
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Static Friction> Kinetic Friction
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Example 1: A 3.75kg block is on a tabletop. The coefficient of static friction is 0.65, the coefficient of kinetic
friction is 0.53.

What force is required to start the block moving? F — Mg — 3 75 )(? ?

E L—NF =(. €5x367SN = 36.75N

Once it has started moving what force is required to keep it moving at a constant velocity?

- Ry = 053x3679N = =((1\)

Draw a FBD of the block moving at a constant velouty with the magmtudes of all forces labelled.
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Example 2: A 0.200 kg puck is pushed along a sheet of ice by an applied force of 0.240 N. If it moves at a
constant velocity find the coefficient of kinetic friction.
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Example 3: What is the maximum acceleration a 45 kg person can do if the coefficient of friction between them
and the ground is 0.34?
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Example 4: A 1.1 kg textbook is held against a wall by an applied force of 45 N. What is the minimum coefficient
of static friction between the wall and book?
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Example 5: A 0.200 kg puck with a coefficient of kinetic friction of 0.102 between it and the ice is shot a velocity
of 26 m/s. How far will it travel before it stops?
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